
 
 

Same Figure Hexagonal Test 
 

Direction (1-10): In each question given below, there are five answer figures on the right side, below 

which A, B, C, D, E are written. Any one of them is similar to the question shape given on the left. Darken 

the circle given in the answer sheet to the letter below the answer figure selected similar to the question 

figure. 
 

निर्देश (1-10):  िीचे दर्दये गए प्रत्येक प्रश्न में र्दायीं ओर पााँच उत्तर-आकृनियााँ, नििके िीचे A, B, C, D, E निखा है। उिमें से कोई 

एक बायीं ओर र्दी गई प्रश्न-आकृनि के समाि है। प्रश्न-आकृनि के समाि चयि दकया गया उत्तर-आकृनि के िीचे के अक्षर को उत्तर-

पत्रक में दर्दए गोिे को कािा करें। 

 

Q1. 

  
 (a) A 

 (b) B 

 (c) C 

 (d) D 

 (e) E 

 

Q2. 

  
 (a) A 

 (b) B 

 (c) C 

 (d) D 

 (e) E 

 

Q3. 

  
 (a) A 

 (b) B 

 (c) C 

 (d) D 

 (e) E 
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Q4. 

  
 (a) A 

 (b) B 

 (c) C 

 (d) D 

 (e) E 

 

Q5. 

  
 (a) A 

 (b) B 

 (c) C 

 (d) D 

 (e) E 

 

Q6. 

  
 (a) A 

 (b) B 

 (c) C 

 (d) D 

 (e) E 

 

Q7. 

  
 (a) A 

 (b) B 

 (c) C 

 (d) D 

 (e) E 

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


 
 

 

Q8. 

  
 (a) A 

 (b) B 

 (c) C 

 (d) D 

 (e) E 

 

Q9. 

  
 (a) A 

 (b) B 

 (c) C 

 (d) D 

 (e) E 

 

Q10. 

  
 (a) A 

 (b) B 

 (c) C 

 (d) D 

 (e) E 

 

Solutions 
 

S1. Ans.(b) 

Sol. The correct answer is (b) 

In the question figure, the position and orientation of the small line inside the octagon perfectly match 

with option b. This makes B the correct answer. 

In all other options (A, C, D, E) the position and orientation of the small line do not match the question 

figure, which makes them incorrect. 
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S2. Ans.(e) 

Sol. The correct answer is (e) 

In the question figure, the position and orientation of the small line inside the octagon perfectly match 

with option E. This makes E the correct answer. 

In all other options (A, B, C, D) the position and orientation of the small line do not match the question 

figure, which makes them incorrect. 

 

S3. Ans.(e) 

Sol. The correct answer is (e) 

In the question figure, the position and orientation of the small line inside the octagon perfectly match 

with option E. This makes E the correct answer. 

In all other options (A, B, C, D) the position and orientation of the small line do not match the question 

figure, which makes them incorrect. 

 

S4. Ans.(a) 

Sol. The correct answer is (a)  

In the question figure, the position and orientation of the small line inside the octagon perfectly match 

with option A. This makes A the correct answer.  

In all other options (B, C, D, E) the position and orientation of the small line do not match the question 

figure, which makes them incorrect.  

 

S5. Ans.(a) 

Sol. The correct answer is (a) 

In the question figure, the position and orientation of the small line inside the octagon perfectly match 

with option A. This makes A the correct answer.  

In all other options (B, C, D, E) the position and orientation of the small line do not match the question 

figure, which makes them incorrect.  

 

S6. Ans.(e) 

Sol. The correct answer is (e) 

In the question figure, the position and orientation of the small line inside the octagon perfectly match 

with option E. This makes E the correct answer.  

In all other options (A, B, C, D) the position and orientation of the small line do not match the question 

figure, which makes them incorrect.  

 

S7. Ans.(d) 

Sol. The correct answer is (d) 

In the question figure, the position and orientation of the small line inside the octagon perfectly match 

with option D. This makes D the correct answer.  

In all other options (A, B, C, E) the position and orientation of the small line do not match the question 

figure, which makes them incorrect.  
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S8. Ans.(c) 

Sol. The correct answer is (c) 

In the question figure, the position and orientation of the small line inside the octagon perfectly match 

with option C. This makes C the correct answer.  

In all other options (A, B, D, E) the position and orientation of the small line do not match the question 

figure, which makes them incorrect.  

 

S9. Ans.(b) 

Sol. The correct answer is (b) 

In the question figure, the position and orientation of the small line inside the octagon perfectly match 

with option B. This make B the correct answer.  

In all other options (A, C, D, E) the position and orientation of the small line do not match the question 

figure, which makes them incorrect.  

 

S10. Ans.(a) 

Sol. The correct answer is (a) 

In the question figure, the position and orientation of the small line inside the octagon perfectly match 

with option A. This makes A the correct answer.  

In all other options (B, C, D, E) the position and orientation of the small line do not match the question 

figure, which makes them incorrect.  
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